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a9 :
(i) T8 FEH-UT AT 4 A AE R - &, @ K T
(i) 9T % T oE % U e §
(iii) GBI F T TT T IR T HF G FE TH YT ET FATE |
(iv) [ 797 & 9 97 & IR 0F & @A W fAEw |

General Instructions :
(i) This question paper contains three parts A, B and C.
(i) Part A is compulsory for all candidates.
(ii1) Candidates can attempt only one part of the remaining parts
B and C.
(iv) All parts of the questions should be attempted at one place.

T &
(TENVHT TSI, WEEH WAl qgr wwWal & o SEie)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

1. ‘9 & YHfa & ER W I< a9 fw-g ¥ o=R 99R |
Distinguish between ‘Subscriptions’ and ‘Specific Donations’ from the
point of view of ‘Nature of Income’.

2. A s vk T ¥ g TR F 159 A & ffved ufw & omewwr @ @,
T N FA VY W AN & IRewe 3q 7 Ay g 2
If a fixed amount is withdrawn on 15% day of every month of a

calendar year, for what period will the interest on total amount
withdrawn be calculated ? :

3. TUF ¢ WEER gN U4 YO & §HF TG % (6 S PEE F IO H e
FifST |

State the reason of contributing for goodwill by a new partner at the time
of his admission.
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4. TEEE 99 SRR W ¥ faged ¥ o w1 3R fag I 1

Give any one point of distinction between dissolution of partnership
and dissolution of partnership firm.

5. ‘sfy-fue & = 3 @ar g ? 1

What is meant by ‘Over-Subscription’ ?

6. frafafed §@ ¥ 81.3.2011 ® §H< gL a¥ & fag = & TRT & MO
FIfTT '
a8 § W == : T 2,85,000.
31.3.2011 F 3&T =<7 : T 9,000.
31.3.2011 &I 3w wra == : T 7,000.
1.4.2010 & 31T ¥= : T 12,000.
1.4.2010 F 39 yr< ¥= : T 8,000 3

Calculate the amount of subscriptions for the year ended 31.3.2011
from the following information :

Subscriptions received during the year : ¥ 2,85,000.
Subscriptions outstanding as on 31.3.2011 : ¥ 9,000.

Subscriptions received in advance as on 31.3.2011 : ¥ 7,000.
Subscriptions outstanding as on 1.4.2010 : ¥ 12,000.

Subscriptions received in advance as on 1.4.2010 : ¥ 8,000.

7. wH fa. 3 9 @ ¥ 2 5,00,000 FF 99T F=owF FA 1 AW F 50% FEA
€. fa. g fo@ T uw fafm R EeR w1 fF T S A9 e g <
a1 | TN TR F PEE T 10 TIF & guar 99, R 25% Aoy | i
ferar mar o, & g7 fewam o
I A & AU e, A & e § sevas I yawa S | 3

X Ltd. purchased machinery for ¥ 5,00,000 from Y Ltd. Half of the
amount was paid by accepting a Bill of Exchange drawn by Y Ltd.
payable after three months. The balance was paid by issue of Equity
Shares of ¥ 10 each at a premium of 25%.

Pass necessary Journal Entries in the books of X Ltd. for these
transactions.
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8. fasm @l fa. 3 % 100 &% & 10,000, 12% Fvrwi, f§= % 70 5fq Hore=
W W farifaa & o, & forg smaeq smafaa fee | qof afer &1 e sees
L &4 a1 |
13,500 UG & T e W g | 3,500 FOGEH % T A H T FK
fean mn qun et T A @ T | I HAESH HOEUG H @A
fear T |
fos ot fa, & Twiel § ST oMol & [ STEvEE UsHmE SefEar ST |

Vijay Laxmi Ltd. invited applications for issuing 10,000, 12%

Debentures of ¥ 100 each at a premium of ¥ 70 per Debenture. The
full amount was payable on application. '

Applications were received for 13,500 Debentures. Applications for
3,500 Debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applications.

Pass necessary Journal Entries in the books of Vijay Laxmi Ltd. for
the above transactions. '

9. T A TV TH BH F GRGR 4 S 5:3F UG H o ded o | 1.4.2010
B I R GSt e weR o g % 80,000 T WY % 1,00,000. IR TS
W 12% WG a9 # e ¥ qA FEW W 15% W g8 H W ¥ AN A H
- fofa RRam 1 81.3.2011 H §OE T &% ¥ fAT W @ wHESH 9 9@ WH
F AT T 14,040 @1 | g¥ & A G FA W & BT FHAIE T 6,000 T
10,000 & | (T TR A WY I Y G qG T F A=A ffe
@l R ST | B H g g9 @ gEn # off O | =S femn Ssmom |

Suresh and Ramesh were partners in a firm sharing profits in the
ratio of 5 : 3. Their fixed capitals on 1.4.2010 were : Suresh T 80,000
and Ramesh ¥ 1,00,000. They agreed to allow interest on capital

@ 12% per annum and to charge on drawings @ 15% per annum. The
firm earned a profit, before all above adjustments, of ¥ 14,040 for the
year ended 31.3.2011. The drawings of Suresh and Ramesh during
the year were ¥ 6,000 and ¥ 10,000 respectively. Showing' your
calculations clearly, prepare Profit and Loss Appropriation Account of
Suresh and Ramesh. The interest on capital will be allowed even if
the firm incurs a loss.
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10. 9, @RIV R WA WHER § ST A # 3:2:1F% g9 ¥ fawfse &
? | g ¥ wfa # qe9 T 1,80,000 fEAT g3 § | TRAU TGN TGV A
g, T 3TF EHENT WU Fd THY WA F HedEA T 2,52,000 | FAT WA
21T a9 i wfosm F oA # 2:1F Ua § fawiea 9 @ fofg o
g | TREU & ISy W FA & a9 Yed 9 & @ T 1,20,000 3N | @AM
F dAGHT q Ol F famer & v eves UsameEr wfEfear sifse | s
T # WP Y ¥ IR | 4

Ram, Laxman and Bharat are partners sharing profits in the
ratio of 3 : 2 : 1. Goodwill is appearing in the books at a value of
¥ 1,80,000. Laxman retires and at the time of his retirement,
goodwill is valued at ¥ 2,52,000. Ram and Bharat decided to share
future profits in the ratio of 2 : 1. The profits for the first year after
Laxman’s retirement amount to ¥ 1,20,000. Give the necessary
Journal Entries to record goodwill and to distribute the profits. Show

your calculations clearly.

11. o & 3 2 1,00,000 % 12% BOwE % e @ fofg frar | 39 260,000
& HUE H G aNR ¥ T 95 ¥ OIS F W W HT fFA | &S RO H
9 g T 100 o1 | I T 40,000 & RO 1 wed @ ¥ § R m@ | S
A KOG YNE BT H SESE SO e § qdad @ fmar gem @ |
B & WET & AU F S QR § HERIE G Saredr #iee | 4

Ajanta Ltd. decided to redeem X 1,00,000, 12% Debentures. It
purchased ¥ 60,000 Debentures from the open market at ¥ 95 per

Debenture. The face value of each Debenture was ¥ 100. The balance
of ¥ 40,000 Debentures were redeemed out of profits. The company
has already made a provision for Debenture Redemption Reserve in
its books.

Pass necessary Journal Entries in the books of the company for the
redemption of Debentures.
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12. fefafed o@cdl & fou Seied fa. & 9@ 4 Evas JsHmen Yafsar
FIfT

()

(i1)

Z 100 Y% & 9,500, 10% FOTTE & IMEF 3= T 100 TI% & Guar 379
T oftefda & 5 T | guar 9 w1 e 5% & 98 W R T

T 100 Y% & 440, 10% B9 H WET T 50 T9F & AC 12% FOGE
# ufefdd & f&ar 7@ | A = # 10% ey W fifaa e
|

Pass necessary Journal Entries for the following transactions in the
books of Fairdeals Ltd :

(i)

(1)

Redeemed 9,500, 10% Debentures of ¥ 100 each by converting the
same into Equity Shares of ¥ 100 each. The Equity Shares were
issued at a discount of 5%.

Converted 440, 10% Debentures of ¥ 100 each into new 12%
Debentures of ¥ 50 each. The new Debentures were issued at a
premium of 10%.

13. W 9% 9. UF W & WRGR ¥ T4 3 : 2 % U H @9 ded 4 | 31.3.2011
F I fafg fgewor 79 @R a1

1.4.2011 # ®F & faved & T qu gHRE w@ gl & R FEER

31.3.2011 &t W. war 7. & feufa faawo

qfer afer

St z gt z
tz?ﬁ : wrfa 80,000
d.:  Z80,000 9\ T e 80,000
. : Z70,000 1,50,000 | &% 60,000
R 50,000 | ST&R 40,000
FHer afagfd ff 80,000 | 3% 20,000
2,80,000 2,80,000

g3

(1)

67/2/1
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(i) &g T =& & T 50,000 § 7 %7 fFar |

(iii) wmfora €& FOT Z 5,000 & |
(iv) @fd & F3 Fff < & gam |

(v) el gfagfa @ T 80,000 41 |

T & gHYe & fau EvEs UsHmEn sfafear FifNe |
P and Q were partners in a firm sharing profits in the ratio of 3 : 2.
On 31.3.2011 their Balance Sheet was as follows :
Balance Sheet of P and Q as on 31.3.2011
Amount Amount

Liabilities 4 Assets 4
Capitals : Goodwill 80,000

P: < 80,000 Land and Building| 80,000

Q : T 70,000 1,50,000 | Stock 60,000
Creditors 50,000 | Debtors 40,000
Workmen Compensation Fund 80,000 | Bank 20,000

2,80,000 2,80,000
The firm was dissolved on 1.4.2011 and the Assets and Liabilities were
settled as follows :
1) Creditors agreed to take over Land & Building at a valuation of
their full claim.
(1) Stock was taken over by Q at ¥ 50,000 for cash.
(iii) Bad debts proved T 5,000.
(iv) Goodwill was found valueless. :
(v)  Workmen compensation claim was ¥ 80,000.
Pass necessary Journal Entries for dissolution of the firm.
67/2/1 7 PaFO



14. 31.3.2011 & ¥« TC a¥ & fou REfos @ & TG 6 PAE @

frfafaa 2 :
31.3.2011 & 9@ T &€ &1 WA T FAE Grer
aH STET
, TrT afa
wiftear UGIE] 3
Y A WY 9.700 | 3 (Fac 8 HEW HI YIAH) 12,000
G 23,700 | fetran 5,600
A 12,300 | fastelt (37t =¥ & faw ¥ 400 wfwfed) | 4,400
K 8,300 | fifeT qar Leed 900
g & faua 2,900 | T 41,000
(X 900 & a9 2011 —12)
IECHIBCARCET 15,400 | 9% TR 51 (31.10.2010 =) 4,000
(7% 77 % 16,000)
3T 3 A ™ 4,400
72,300 72,300
IWE W 991 PIAA @ H GEEd ¥ AF TE T WA IR S | 6
Following is the Receipts and Payments Account of Shivalik Club for the
year ended 31.3.2011 :
Receipts and Payments Account for the year ended 31.3.2011
Dr. Cr.
Amount Amount
Receipts .4 Payments 4
To Balance b/d 9,700 | By Salaries 12,000
(paid for 8 months only)
To Subscriptions 23,700 | By Rent 5,600
To Entrance Fees 12,300 | By Electricity (includes 4,400
T 400 for next year)
To Donations 8,300 | By Printing and Stationery 900
To Hall Rent 2,900 | By Books 41,000
(X 900 for the year 2011 -12) '
To Sale of Investments 15,400 | By 9% Fixed Deposit 4,000
(Book value ¥ 16,000) (on 31.10.2010)
By Balance c/d 4,400
72,300 72,300

Prepare Income and Expenditure Account from the above Receipts and

Payments Account.
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15. TEH. 991 9. TH BH & WECR ¥ 9 2 : 1 F YA § A dfed 4 |
31 A 2011 & 399 ol fqewr 7= s/ a1

31.3.2011 & UEH, 91 a3, @1 fefa faawor

afsr afer

TFan z qrfar T
gad FI % o wEEe 250 | I%E 18,250
fafere eer 59,000 | SR 15,000
gt @ =i 32,000
TH. ;27,000 91 T& o= 30,000
3. : T 18,000 45,000 | -1 @rar . 9,000
1,04,250 1,04,250

1 389 2011 # fr=fafed vl W S, & 9EER 99 T

) a"s’i%ﬂn%mﬂs,ooofﬁ AT q @ & A 2 6,000 FFEHE
Fan, S e 9 e, q9r 9%, e @

@ W % foeg &4 & U 9 & g9ET 2, 394 AU T 1,500 & SEEH

Crcii

(M)  fooet =g F T 1,300 & TS fad & o 98 R o, tEe fau ared

TEHE SE @ |

(@) ey = F AU IR F 5% F W TEH T 7

(5) fofte ool & wfimfad 2 1,200 % @6 T8 &1 TOE FE S BN, ST

Toa ufefad & 2

-mﬁ?ﬁm@aﬁf%mﬁg.?ﬁiﬁ%aﬂwmm. a9 # O a
ey fafq SHER U deR Sar Uke & TEE S F 2 |

TR @, WEel F iSt '@ g R wH s fuf e dEr S |

67/2/1
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AR, UH. 9T TA. UH WY & QPR & 9O 5: 3 : 2 & U ¥ o sfed o |
20 HEY 2011 F PR AR, F @ & T | 39 fafy | wd @ fufy feEwr
g YR T o |

RUN LUN
et z Trgfat g
TSl R 41,000
IR : % 12,000 | R 6,000
W 316,000 wis 9,000
T, : T 10,000 38,000 | SR 15,000
AR F F=O 7,000 | TS ' 3,000
| 20,000 | TG @ 10,000
EEL 19,000
84,000 84,000
TEell 0w & SR, URCR & g W IEH SR B b faw
FHGR BT : |
i) O w w o,
(i) TRl & TR 991 SARIEl & I EReT § gae WEer & any/Ee
H 3w S fFEEER R
(%) TG T 45,000 T FEER H T 7,000 W GAT qeAihd fH

R .
(@) dfery =i & AT 10% F1 TE9UT & 90 |

(iii) w.ﬁéagauﬁawww%ﬁm%méﬁﬁmﬁm
T S A A # ST 2

iR @], SRR & Yo @, N % SAUEHN S @l T T, qAT TH.
& fefs e dar ST safF 32 oo O @ #® AT o euE § wad
T FEEE FH A WA w flg fon @ ) R o et @ o @ WERR &
] @l H ERRG X fear s |
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X and Y were partners sharing profits in the ratio of 2 : 1. Their
Balance Sheet as on 315" March 2011 was as follows :

Balance Sheet of X and Y as on 31.3.2011

. Amount Amount
Liabilities - Assets 3
Provision for bad debts 250 | Cash 18,250
Sundry Creditors 59,000 | Debtors 15,000
Capital Accounts : Stock 32,000

X: ¥ 27,000 Land and Building 30,000

Xz T 18,000 45,000 | Profit and Loss Account 9,000

1,04,250 1,04,250

7 was admitted to the partnership with effect from 15% April 2011 on
the following terms :

(a) He will bring ¥ 15,000 as his capital for one-fourth share and
pay ¥ 6,000 for goodwill, half of which was to be withdrawn by X
and Y. :

(b) There is likely to be a claim against the firm for damages, a
provision of ¥ 1,500 was to be made for the same.

(c) A bill for ¥ 1,300 for electric charges has been omitted, now it is
to be provided for.

(d) A provision of 5% on Debtors was to be created for doubtful
debts.

(e) Included in Sundry Creditors was an item of ¥ 1,200 which was
not to be paid and therefore had to be written back.

After making the above adjustments, the capitals accounts of X and Y
were to be adjusted on the basis of Z’s capital. Actual cash was to be
brought in or to be paid off as the case may be.

Prepare Revaluation Account, Capital Accounts of the partners and
the Balance Sheet of the new firm.

OR
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R, M and L. were partners in a firm sharing profits in the ratio of
5: 8 : 2. Partner R died on 20%" February 2011. The Balance Sheet
of the firm on that date was as follows :

Amount Amount

Liabilities 4 Assets 4
Capitals : Machinery 41,000
R: T 12,000 Furniture 6,000
M : T 16,000 Stock 9,000
L: % 10,000 | 38,000 | Debtors 15,000
Loan from R 7,000 | Cash 3,000
General Reserve 20,000 | Profit and Loss Account 10,000

Creditors 19,000

84,000 84,000

According to the Partnership Deed, on the death of a partner, the
executor of the deceased partner will be entitled to :

(1) Balance in Capital Account;

(ii))  His share in profit/loss on revaluation of assets and reassessment

of liabilities which were as follows :

(a) Machinery is revalued at ¥ 45,000 and furniture at ¥ 7,000.
(b) A provision of 10% was to be created for doubtful debts.

(iii) The net amount payable to R was transferred to his executor loan

account which was to be paid later.

Prepare Revaluation Account, Partners’ Capital Accounts, R’s
Executor’s A/c and the Balance Sheet of L and M who decided to
continue the business keeping their capital balances in their new
profit sharing ratio. Any surplus or deficit was to be transferred to
current accounts of the partners.

67/2/1 12




16. T@r fd@ 3 T 10 5@F F 30,000 FHar 3 F T 30 W 3w F fgm w i
A F fau oA smwfEd e | ofe & e R TER § & o
e | % 10 9fq 37w (% 8 ifiaw wfeq)
e W T 12 wfa i (T 9 Wftem gfeq)
¥oq wd A9 =T W — U9

27,000 39 F AU aeeT W gC | 4 A=A WO G W qw wf o @ W
fgar fyrar & 3,000 330 A Dew, 3 e ufyr 99 wum wd faw IwA
e & pram T fer, @@ fReR fSE9 e 2,000 3 W owgW wd i<W
AT N OaE TE A | fEr o fReR & o & s & fen M | S
fow mu st & ¥ 4,000 39, A R & Wit oy wiiwfad 9, @ T 17 ¥fd
s ¥ gf wem g feifea & fer m

I Al & fow ar fa. g § sevas IsHmen wfafpar #i |

Hgar

feem fa. 3 10% & 38 W frifld @ & fow 2 10 5% & 70,000 39
F fau smaeT smwfem fRe | ufer & e e oTeR ¥ w o

3Maed W T 4 ¥fq 3w
Eed | T 3 qd W
I Ug 9 I W — I

80,000 3f¥i & AU amaed W= gT | 5,000 3¢ & foU e & | & fea

T qAT VN MESH H IIANGE YR W HI F @A F e TN | A

W g 3ffafs Uy & guEiem efEed W g ufvr H s foam wen | s, R
1,500 33 & fow sees foar @, 3 seed IR &1 Pam T8 fFa | e %
T VAN, 39 I H T A A M | I e YW TH A< Al
ufer st | I A emefed 700 SR W ¥eW wd i A=A UM AW AR

T | 3UF ofE @ of W o formn mn | S fRT T 1,500 SR w13 ufd
oy ¥ gof weg ¢ frifaa s fear mar | g% e few o sl A oS W
Tt afyr dfmfaa 2 |

3T el & fau R 4. #1 gws § sevEs s SfawE #ie | 8

67/2/1 13 P.T Q.



Gupta Ltd. invited applications for issuing 30,000 Equity Shares of ¥ 10
each at a premium of ¥ 30 per share. The amount was payable as
follows :

On Application % 10 per share (including ¥ 8 premium)
On Allotment ¥ 12 per share (including ¥ 9 premium)
On First and Final call — Balance

Applications for 27,000 shares were received. All the calls were made
and were duly received except on 3,000 shares held by Shiva who
failed to pay the Allotment and First and Final call money and on
2,000 shares of Girdhar who did not pay the First and Final call.
Shares of Shiva and Girdhar were forfeited. Out of the forfeited
shares, 4,000 shares were re-issued, inc]uding all the shares of
Girdhar at T 17 per share fully paid up.

Pass necessary Journal Entries in the books of Gupta Ltd. for the
above transactions.

OR

Firdos Ltd. invited applications for issuing 70,000 shares of ¥ 10 each
at a discount of 10%. The amount was payable as follows :

On Application ¥ 4 per share
On Allotment ¥ 3 per share
On First and Final call — Balance

Applications for 80,000 shares were received. Applications for 5,000
shares were rejected and the shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications
was utilized towards sums due on allotment. Jonney, who had applied
for 1,500 shares, failed to pay the Allotment money. His shares were
forfeited immediately after allotment. Afterwards the First and Final
call was made. First and Final call was not received on 700 shares
held by Rommy. Her shares were also forfeited. 1,500 forfeited
shares were re-issued at ¥ 13 per share fully paid up. The re-issued
shares included all the shares of Jonney.

Pass the necessary Journal Entries in the books of Firdos Ltd. for the
above transactions.

67/2/1 14



RIRIREC]

(fa=ira faerot =1 fayeraon)

PART B
(Financial Statements Analysis)

17. ‘SFerl’ & fou forfg faawol & favomm & 98w &1 Ioa@ ST | 1

State the significance of analysis of financial statements to the
‘creditors’. '

18. I%e YaR a0 341 TOR ST 2, 3ooiE FeT | i

State why a cash flow statement is prepared.

19. J%g qeaqH S F1 3 Al 2 2 =
What is meant by Cash Equivalents ? Caa

20, S fA. @ W UG 35 : 1 T e UG 15 : 18 | A WE W
e & S arel e gefeal oo wHEE ¥ T 60,000 s €, @ 9
grgfedl qar @re] <aarsll @ UM HiY | 3
Z Ltd. has a current ratio of 3-5 : 1 and quick ratio of 1-5 : 1. If the

excess of current assets over quick assets as represented by stock is
% 60,000, calculate current assets and current liabilities.

21, frafafea o § frafafaa § § 6 g ol & o S
(F) FU-HEAT U,
(@) v S sEd 37,
(M ey | IEE |
R
o Y gSt % 5,50,000; FERT HEE % 50,000; A9-I WIRT H qE SN
PIAE & ag T 1,50,000; 9% 019 % 2,00,000; ¥R T 1,00,000; 4 q T
% 6,50,000; 3T T 1,50,000; IR T 1,45,000; IFS T 55,000 T IR
=13 X 50,000.

31.3.2011 F ¥9< §C ¥ & A€ foBRa T 15,00,000 1 T4 50% F H TAH
feram mam ar | 4
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From the following information, calculate any #fwo of the following
ratios :

(a) Debt-Equity Ratio;
(b)  Working Capital Turnover Ratio;
(¢) Return on Investment.

Information :

Equity Share Capital ¥ 5,50,000; General Reserve ¥ 50,000; Profit
and Loss Account after Tax and Interest ¥ 1,50,000; 9% Debentures
¥ 2,00,000; Creditors ¥ 1,00,000; Land and Building ¥ 6,50,000;
Equipments ¥ 1,50,000; Debtors ¥ 1,45,000; Cash ¥ 55,000 and
Preliminary Expenses ¥ 50,000.

Sales for the year ended 31.3.2011 was ¥ 15,00,000 and Tax paid
50%.

22. fr=fafad s faawr & 31.3.2011 = 9@ g¢ a8 & fou v f4. &1 & 99
HR & Y fgawor daR i

31.3.2011 % TWIw g ¥ & fou s fa. @1 ema faawor

faawo qfer
3
:’ﬂi_:
fasha 30,00,000
I A _ 20,000
T 3T 30,20,000
i
S T AT F S 20,50,000
ST 40,000 |
ga 20,90,000
ETy 2,25,000
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From the following Income Statement, prepare a Common Size Income
Statement of Jagat Ltd. for the year ended 31.3.2011 :

. Income Statement of Jagat Ltd. for the year ended 31.3.2011

| Particulars Amount
3
Income :
Sales 30,00,000
Other Incomes 20,000
Total Income 30,20,000
Expenses :
Cost of goods sold 20,50,000
Operating Expenses 40,000
Total Expenses 20,90,000
Tax 2,25,000

23. 31.3.2010 99T 31.3.2011 F 3R, fo1. F ffareg fafq fFawi & s @&
faawor dar FifST

31.3.2010 aar 31.3.2011 & A3, fo. & feufa faavon

- 31.3.2010| 31.3.2011 31.3.2010 | 31.3.2011
<A 2 g | 2 2
Fuen 9 gt | 4,00,000 | 6,00,000 | TR 50,000 | 45,000
TI-AE W@ | 1,00,000 | 2,00,000 | T 6,00,000 | 6,00,000
d FoT 2,00,000 | 1,00,000 | Fra —| 75,000
SEfad @ | 80,000 | 60,000 | STER 2,00,000 | 2,55,000
H A 40,000 | 70,000 | €TF 10,000 | 15,000
AR 60,000 | 45,000 | % 20,000 | 85,000
8,80,000 | 10,75,000. 8,80,000 | 10,75,000

af # 3 75,000 ¥ Wad F BT A | 96T F BT W T 5,000 F AN &
Yo T T 12,000 F [EEH A T |
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From the following Balance Sheets of J.R. Ltd. as on 31.3.2010 and
31.3.2011, prepare a Cash Flow Statement :

" Balance Sheets of J.R. Ltd. as on 31.3.2010 and 31.3.2011

31.3.2010( 31.3.2011 31.3.2010 | 31.3.2011
Liabilities % 3 Assets 4 4
Equity Share Capital 4,00,000 | 6,00,000 | Patents 50,000 45,000
Profit and Loss Account | 1,00,000 | 2,00,000 | Building 6,00,000 | 6,00,000
Bank Loan 2,00,000 | 1,00,000 | Investments — 75,000
Proposed Dividend 80,000 60,000 | Debtors 2,00,000 | 2,55,000
Provision for tax 40,000 70,000 | Stock 10,000 15,000
Creditors 60,000 45,000 | Cash 20,000 85,000

8,80,000 |'10,75,000 8,80,000 | 10,75,000

Additional Information :

During the year Building costing ¥ 75,000 was purchased. Loss on
Sale of Building was ¥ 5,000. Depreciation charged on Building was

T 12,000.

| T

(franfer TrEie)

PART C
(Computerised Accounting)

17. FFelga AWHd of & ueh 541 § ?

What are the components of computerised accounting system ?

18. fFdl @@ & oMEfed T & U ¥ U 3% g0 fHEe wfafafuc @ @ 2 1
What is represented by ‘fifth’ to ‘seventh’ digit of the code allotted to

an account ?

19. ‘JEERIEOT # ¥4 /YT © 2

What is the purpose of ‘normalisation’ ?
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20. T FPElGT o@eT HHeda & G e @ gy | 3
Explain the security features of a computerised accounting software.

21, 2 & 9HFaar 3Gy SLALUA.TY. QeddR & A9 FaRT | SLELUH.TE. & fERl
T @ & ot guie SIS 4

Give the name of two commonly available DBMS softwares. Also
explain three advantages of DBMS.

22, THUH-UHFY ¥ FET 94 H M0 @ F A€ FH F wwOn # fAfEy | 4
Write the steps of a query to compute transport allowance in
MS-Access.

23. (&%) frafafed g ¥ T o & W A WA FE F O wEd W w
F T HfT | Z 1,00,000 F A dd9 9% 10% ¥, T 1,00,000 F
e @ TR W 20% F [ F | (O S 2 H i)
(@) UHd & 39 foxig @ (6aE) & 90 90 gC GRS S At &
qAHE Tl & WA H GHET 2 | 6

(a) From the following information, calculate the formula on Excel
for computing the amount of Dearness Allowance. When basic pay

is up to ¥ 1,00,000, @ 10%; for more than ¥ 1,00,000 @ 20% (Basic
pay is projected in C2).

(b) Name and explain the financial function of Excel which explains
returns of the present value of an investment.
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